CHE 301: Organic Chemistry I



Name___________________________

Fall, 2004   Quiz 4-take home
1) Circle the compound that would react the slowest under SN1 conditions.
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2) Draw all significant organic products of these reactions, circling the major one. Clearly show stereochemistry when appropriate.
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3) The reaction shown produces 2 stereoisomers. Draw their structures, including stereochemistry. (8 pt)
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What is the relationship between these products?


Is this reaction regioselective, stereoselective, neither, or both?
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